W <FEEEXE > {miﬁz]---zﬂméﬁnﬂ 21 A
plotalfKnondConneections P If"iﬁ;:fﬁ*tﬁﬁlﬁ (

(Ku2] <HEZE>1/2299 (1/37) <B§5E > #)[E 50.0% - #E#5 100.0% (SEHEE 86%)
CBYR OB = (FREP) 1+4 B or 10044 B/ ({EFER) 50 [E or 100 [ < EER >381842681&158&12

54 L] -<EA=590E## > - <HEM=873MEIiE> (o] - (BREFNXLE) HE=1/1 (B 500r100 @)
WY H A — 7 - 2B —
bz S N
MR AR - 2L
W R R AR Y — - - A
WRE -
WY REE- Y
[ FIRE IR Y

(Fr02)

Wi LTS /

<THyH—RtEHE>
[KJ2] ( £7%vh—: 158 /10C) @
(FT7%vh—: 12{@ /100) [HEDHNO]

+ F2R---- 280 {@
+ FAR+TF6R---1,220 {&

WA

<Y M
[E#ESalL—Sav] e
<sER@TEH= 9 E>
KOMFIX., NRMERLES, EE (KJ2])

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




